
���������	 ��
����
	 ��������
	 �������
�

��� ���
���
�


��� �������� �	
 ����
���� ������
����� ��	���� ��������	� ��
������
������ �	�������� �� ����	� ��� ��	������� �� �	
 ����
�	������� ��  ��
�������� �	
 ����
���� ��
��	����	� �!"�# ����	�
�����

"��������	
�	� ������
�$����% ������&'����(
�)
(��(
	�(��

��� �������������	 
�� 	��
��� 	��������� ������
����� ��� ������ �� ����� ��  � ��!��!�� �� ��� ���
����"����� �# �
�������� ��� ��$����� %$�	����� ��
���������	
�
� �
����� ��� �������& '� ��
��� ����
���� ��������� ����� 
�� 
������� #��� � 	��
���
���� 	������� ��� ��	������ �� �
������� ��� ��$����&
��� ����	������ �# ����� ���� 	������� ��� ��	������
�� (��) ��
������ ��� �� ��������  * ��� ����	�  ����
��� �# ����� �� ��� (��������� 
�� ������ ��+$��	� �#
��	������� �� ������������  * ����� �# 	�����$���

��	�
������� ��
�������� ��� 
� �
���  ������ ����*�
���� ��� ��	�� ����� ��$�������� �������#�����,����
�-& ��� 
�����	� �# ��	������ �� ��� %$�	���� ��
��+$���� �� ����� �� ����	��� ����� #��� ��� 	*�����
�� 	���������������� ���������� ��$� ����	����� ����
����� %$�	������ ��	�$������ �� ��	������ ��
������
��� ���� ��� #$�	������ ���� �# ���  ������ �� �� ��	��
��"� �����& .����!��� ���� ����� �� 
������ �� ���
��	�������	��������� %$�	������ �� ���������� ��� �		$�
�$������ �#  ������ 
�������� ��$� �$�������� ���
��	������  * ���	� ��	������ �������� ��� ������"��
���� �# ��� %$�	������ ������&
��������% �$
���	�	*�����
����� 	����	�*+��$,*
���- 
����*��. ������	�

���������
��

�	 ��
�� �� �/��� ����� ����������
�� ��	
���	�� 
���� ����
0� �0�� �� ��	����� �	
 ���	���	 ���
����1�
 ������
���0��	� 
����	�( 2�
� �� ����� 
����	� �� 
����
���$
�1�
 0� � �	�3�� ����
���� 
���������	� 4��
� �	
��
��
�
�����	 ����
����� ��
������� ��	 
��		��� �	
 �����
����
����
 
�������
 ���	���	� �����	��( 5�� �����0�� ��
����� 
����	�	�� �	 � ��	
���	�� 
�����/ ��3����� ���
�����	
� �� � �����
����	 ������	� 4��
� �
�� �� �
����
���� �
�����
 �� ����	�1� ��� 
������	� �����	�� �	
��� ����������� �����	 6'�		�	� �	
 7	
����	� "###8(
9
�����
�	� ������	� ��� ����	 ���0��	�$����
����

������	� 
�	���	�	� �	� �� ���� ��. 
����	�� 4��
�
��� ������	:������	 �	����
���	 ��
���� ���� ������� 0�	

��� �$�����	�� ��3��	
�� �� ������ ������	� 6�����	 �	

 ��
�� "##;8( <	� �
�����
 
�����/� 4��
� �� 
����	 ��
��������� �	
 	����	�� 
���� �	
 ��� 0��	 ���	
 �� 0�
�	�����
 �	 ��� ����	�1����	 �� =�	
���	�� 
����	�� �� ���

�������������
 
�����/ 
�	�����	� �� ��� +��$�� +��$,
�	
 +��$"! ��. ������	� 6 ��� �	 
�(� "##;>  ��1 �	 
�(�
"##;> -��
� �	 
�(� "##;8(
�	 �
�
���
���	�� ����

�� ���� 
�����/ �	����� ���

��
���1����	 �� ��� ������	� ?�	��� ��
����� +25$�� �� ���
�������*=�	
���	�� 
����	 �� ������ ���
����� 
����� �
��
���1����	 	�
������ �	 ��
�� �� ���	���	 ��� ���	���	�

��
�
� ���
�	� �� 
��� ������������	 �	
 ��� 
������	������	
�� ������ 
���� 69���?� �	 
�(� "##@> -��
� �	 
�(� "##;8(
5�� 
��	�
 ��������	 ��������� �� +��$�� +��$, �	


+��$"! ��� ���� ?	�4	 �� �79-� �����*�7+9 �	
 ��	�"*
A"" 6B��� �	 
�(� "##@>  ��� �	 
�(� "##;>  ��1 �	 
�(� "##;>
����	 �	 
�(� "##;> -��
� �	 
�(� "##;> ���� �	 
�(� "###> C�
�	 
�(� "###8(  ��� ������

� �	
 ��������	 +��$� 
�	
0�	
 +��$"! �	
 +��$, �	
���	
�	��� �� ��� ��.

����	�� 4��
� ��� ���� �� ��
���� 
��� �
�����	 ����
�����
��
������ �	
 ���	���	� ������	� 6 ��� �	 
�(� "##;>  ��1
�	 
�(� "##;> -��
� �	 
�(� "##;8( �������	� �
��	
�� ����
0��	 ��
� �	 
����
����1�	� ��� ����
���� 
����	�	�� ��
��� 
�����/� �	
 �� ��� 0��	 ���4	 ���� �
�����	
����
����� ��
� �� 	����/�	 �	
 ��	
�
�	 6B��� �	 
�(�
"##@> ����	 �	 
�(� "##;> B���� �	 
�(� "##;8� �� 4��� ��
���	��������� ��
������ �	
 ��	 
��		���� ��
� �� ���
���������� �$���	�0�����
 �
�
 6D7 78 ���	�������
6 D5$"8� ��� �$������$�$��������� 6���78 ��
�����
�	
 ��� �$���� ���E 
��		�� 6C� �	 
�(� "###> ��/����
�	 
�(� "###> ������ �	 
�(� "###8� �	����
� 4��� ��� ��.

����	� �� ��������	 +��$�� +��$, �	
 +��$"!( 5��
�������������
 ��. 
�����/ ����� � ���� �	 ��������	� ���
��
���1����	 �� �	����
��	� ������	� 69���?� �	 
�(� "##@>
������ �	 
�(� "###8� 0�� �� �� ����� �	
�����	 ��4 ���

����	�	�� ��� �������
 �� ��� =�	
���	�� �����
�(
5�� ���������� �	
 	����	�� =�	
���	�� 
����	� ���


������
 ��������� �� ���E$
���	
�	� �
�����	 ���$
�
���� 
����
 
�
����	�( 5���� ��� ���	����0��	� ������	�
4���� �/���
������� 
����	� ������� 
���:
��� ��������

�
�����	� 4������ ����� 
���������
 �����	� ��� ��	?�
 ��

���������
 ������	� 
����
 
���	�	� F�$
���	�	� �$
���	�	
�	
 �$
���	�	� 6���?����0�	�8G 6D��0�	��� "##@8(
����	�	� ���� � 
�	���� ���� �	 
�
����	 ��	
���	 0�
��
����	� ��� 
�		�
���	 �� 
�
����	 �� ��� �
��	

����?�����	� �	
 ���� ��������	� ��� ����	��� �� 
���
�
�����	 67
��� �	 
�(� "##@> 7	���� �	 
�(� "##@8(
������� �	������ ������	� �	
 ���	���	� ����
���� ���
�

�������
 �	
 ����	�1�
 �� 
�
����	:
���	�	 =�	
���	�
6��	��� �	
 ���	��
�� "##,8� �	
 ��� �����$��. 
����	

�����/ 
�	���	�	� +��$, �� �	 �/
����	� 
�	
�
��� ��� ���
��
�����	 �� ����� ���
������ 4��
� ���
 �� ��� ����0����$
��	� �� ����
������� �	
 ��	
���	���� 
����	
� ������
���0��	� 
����	�( H� �/�����
 ��� �����0����� ���� ���

���
� 0�	
�	� �� ��. ������	� �� ��� ����
����� 
����	$
�	�� �� ��� 
�
����	 �
�����	 ������ ��� ��
���� �����$
��. 
����	 
�����/�� �� ��� =�	
���	�(

������
�� ����� � ! "����
�� �����
��� #
��
�������
� �� ��� ����$���� %����
��� �& �"
����
�
��� �������

'�� (�)* +������ ���� �� ��� �� 		� 
���

���� ����


��� �����	��� ��������� ������� ������������



H��	 �/���	�	� ��� ���	� �
�
 ��3��	
� �� ���
������	� �� ��� 
�
����	$��
����
 �
�����	 ������
65�0�� �8� 4� 	���
 ��� �����	
� �� � ��.$��?� ������
��3��	
� 6$�$5$�$+8 �	 ��� �$�����	�� �	
 �� �$
���	�	�
4��
� 
�������	
� �� ��� 
�	��	��� ��� 0�	
�	� ��� ���� �
��. ����� �� +��$, 6-��
� �	 
�(� "##;> C� �	 
�(� "###8(
H� 
���	������ ���� ���� +��$, ����� � 
�����/ 4���

�
����	 �	
 �$
���	�	 �� ���������� �	
 	����	�� =�	
���	�
0� ���	� �� 
���
� 0�	
�	� �� ��� �$�����	�� 
����	 ��
�$
���	�	� �	
 �����
� 
��� ��������	� ��� ���� �� ����
�	����
���	 �	 ��� +��$, =�	
���	�� ��
������	�(

�������

��� �������	�
� �� 
���� �� ���������
�������
�
�
����� ��
����
�
H� �	���1�
 ��� �������� �	
 ������� 
�����0����	 ��
+��$, 
���	� ��� ��������	 �� 
���:
��� 
�	��
��� �� 4��� ��
�	 ����� ������1�
 ��
�	:���0� 
�	�	� ?�
	�� 6���-8

����( 5�� 
���:
��� �
�����	 �� ���������� 
���� �� 0���

���	�� �	 ��� 2$
�
����	:
���	�	 ������� �	
 4� �����$
���� 
������
 ��� ��
���1����	� �� +��$,� 2$
�
����	 �	

�$
���	�	 0� ���	� �� ������ ����	�I�����
�	
� �/����$
��	�� �	
 
�	��
�� �	������( �	 ��
�� �� �����4 ���
��
���1����	 �� +��$,� 4� 
�������
 � ����
��	�� �	��0�
�
�����
 ����	�� ��	�����
 �����
�� 
����	�
 �	 ��� +��$,
��. 
����	 6��� ��������� �	
 �����
�8� 4��
� ��
��$
	�1�
 �	 J�� ?�� 0�	
 �	 ���- 
��� ������� 6��� '�����
K�8( �� ��� 0��	 ���4	 ���� ���- 
���� �/����� ���
+��$,� �	
*�� +��$, � ��������� 4��
� ��� 0��� �������

�� � 0�	
 4��� �	 ������	� ����
���� ���� �� J�� ?�� 0�
���	� �� 9�9:�7D2 6���� �	 
�(� "###> C� �	 
�(� "###8(
�	 ��
�� �� �����4 ��� �	����� ������ �� =�	
���	

��������	� ��� ���- 
���� 4��� �����
 �� ���� 
�	����
��� � � 6����� 
�	��
��8 6'����� "78( �	
�� ����� 
�	
�$
���	�� +��$, ����	�	� 4�� ���
���	�	��� 
�������
 6��
8�
4������ 2$
�
����	 60���8 �	
 �$
���	�	 6����	8 4���
�����
� �	��
��
 �	 ��������� ����
����� ���	� ��� 
���:
���

�	��
�� 6����� 0��� �	 ��� �����
 �����8( �� �� �	�������	�
�� 	��� ���� 
�$��
���1����	 �� +��$,� �$
���	�	 �	

2$
�
����	 4�� �	�� ���
�	� �	 ����� 4��� � 
�	��	����


���:
��� 
�	��
� 64���� �	 ��� �����
 �����8(  ��4��	
"! �	
 "; � ����� ���
�	� �	 
������� ��� ���- 
���� 4���
	�� ����� ������1�
 0�� �����
 
�	��	��� �
�����	� ���	�
��� �	���� 
���:
��� 
�	��
� �����
�� �	 4��
� +��$,�
�$
���	�	 �	
 2$
�
����	 
�$��
���1�
 64���� �	 ���
�����
 �����8 6'����� " 8( �	 ����� ������1�
 ���-

���� 6LK 
��� �	 
������� '����� "�8� +��$, 
�$��
���1�

4��� 2$
�
����	 �	
 �$
���	�	 ���	� ��� ������� =�	
���	��
�����
� 6�����
�� �	
 ����1�	��� ��
���	�8� �	
 +��$,
����	�	� 4�� ���� �0�����
 �� ��� ���/ �� ��� �������
���0��	� 6�����
�� ��
���	8( 5��� ��
���1����	 �� ������� ��
���� �� ��� ����� =�	
���	$����
����
 ������	 .<$" 6
��� 	��
���4	8� �� ���������� 
�
���	��
 0� ���� �	 
�( 6"###8(
5�� 
������	� 
�����0����	 �� +��$, �	 
���� 4��� �����
��������� 
�	��
�� ������ 
���� 4��� ������� 
�	��
�� 
�		��
0� �/����	�
 0� � ������ �/�������	 �� +��$, �	 ��� �������
0�
���� ������� ����	�� �� ��� ��. ������	 4��� �������

0� ��� ����	�0�����	� �� 
��
� 
��� ������� 6
��� 	��
���4	8(
5���� 
��� �	
�
��� ���� ��� �

��������	 �� 2$
�
����	

�	
 �$
���	�	 �� ��� =�	
���	�� �����
� ���
�
�� ���
�

��������	 �� +��$,( ��������� ��� ����������� ��
����$
��	� �� +��$, ��������� ��� ��������	 �� ������� 
���:
���
�
�����	� ���������� ��� 
�	��
� ����(


����� ���������
 �
� ������
�
 ��� ���������
������������� �
 � �����
 �� !!��
������� �������

����
� ��
����
�� 	��������

5�� ���������	 �� 
���:
��� 
�	��
�� ���
� �� ���
������	�1����	 �� ��� �
��	 
����
�� 
����?�����	� �	
 ���
�������	
� �� ��� 2$
�
����	:�$
���	�	 
�����/ �� 5����	
A$"!! �/���
���	 6����?� �	 
�(� "##K> 7
��� �	 
�(� "##@8(
H� �	���������
 4������ =�	
���	�� +��$, 4�� ��
�����
 �	
5����	 A$"!!$�	����0�� 
�����/�� 0� ���	� �� ����	�$
I�����
�	
� �/������	�� �	 4��
� ��� 
���� 4��� �/���
��

4��� 5����	 A$"!! 0����� ����������
���
� )/����	(
�	
�� ����� 
�	
����	�� +��$, ����	�	� 4�� ������
��

��������� �� ��� 
���:
��� 
�	��
� ������ 4���� �� 
�$
��
���1�
 4��� 2$
�
����	 �	
 �$
���	�	� �	
 ��� �	���$

������� ����	�	� 4�� ������� �/���
��
 0� ��� �������	�
6'����� �78( 5�� 
�����0����	 �� +��$, �	 ��� 5����	

�� �� �& 7���	��	� �� ��� 
�
����	 �	
 
���	�	 �$�����	�� ��3��	
��

<���	��� ���� �$�����	�� ��3��	
� 7

�����	 ��(

B���	 2$
�
����	 ���������� �"�;�!
B���	 �$
�
����	 ���������� �"#!��
B���	 �2$
�
����	 ���	
����� ���"M"
B���	 �$
���	�	 ���������
 ��M��"
B���	 ���?����0�	 	�	������� �"K#��
B���	 �$"�! "7� ����	����
 <@!,"K
B���	 �$
���	�	 ��	��	���� <!!�,#
B���	 �$
���	�	 ���������� ��M���
��� �$
���	�	 ���������� N#H�;�
����� �$
���	�	 ���������� N!��K;
���
?�	 �$
���	�	 ���������� <K�K;@
��
���� �
���� �$
���	�	 ���������� ��@���
.�0��)�� �$
���	�	 ���������� N#!K�K
���

 �
	��	�

��� �$
���	�	 ���	������  77#�";M
9�� ��
��	 �$
���	�	 ���������� <@"��#
���������
 ��� ���������� �";;�K
������

� ���$� 	��������� <KK��@
����
 �$
���	�	 �������	�� N�M"!!
�
���
������� ��������
� �7�; 
���
����� ��##@;

� !���"������ �����
��
�� �& ����� #
�� �������
�


���



A$"!!$����0�� �	
 $�	����0�� ���
���	� 
���	� =�	
���	��
���������	 4�� 
������	�
 0� ���	� �� � 0��
����
��
����� 6'����� � 8( ����� �� 
������	� ������ �� =�	
���	��

��������	� 4��� �/���
��
 ���	� !(MO 5����	 A$"!! ���
�! ��	� �	
 �3��� ������� �� ��� ����0�� �� �	����0��
���
���	� 4��� ���
�
 �	�� � "!O 9�9:�����
������
�
��� �	
 ���
����
 ��� ����	�0�����	�( 7� �	 ��� 
��� ��
2$
�
����	 �	
 �$
���	�	� ��� ����	� �� +��$, ��
�����

�	 ��� 5����	 A$"!!$�	����0�� ���
���	 �	
�����
 
���	�
=�	
���	�� ���������	� ���
��	� M!O �	 ����� ������1�


����( 5���� 
��� �	
�
��� ���� 
�������
 +��$, �� ��
�����

������������� �� ��� =�	
���	�� 
����	� 4���� �� 0�
����
���0���1�
 �	 � 5����	 A$"!!$�	����0�� 
�����/ ��������
4��� 2$
�
����	 �	
 �$
���	�	(

��� ����
 �����"�����
 �� ��#����� �
 ����� ��
	��
���
 ��� ����������
 �� 
���� �� ���
���������
�������
�
������ ��
����
�
5�� ������� �0���	�
 4��� ��� 5����	 A$"!! �/������	��
������� ��� �����	
� �� +��$,� 2$
�
����	 �	
 �$
���	�	 �	
� ���
���	 
�	���	�	� ��� �
��	 
����?�����	( 9�	
� �
��	

���������1����	 
����� ��� �	���
������� ����
����	 ��
2$
�
����	 �	
 �$
���	�	 6����?� �	 
�(� "##K8� 4�
�/���	�
 ��� 
�����0����	 �� +��$, ����� �������	� 4���
� �� 
���
������	 � 6'����� �� E 
���
������	 �8(
2$
�
����	� �$
���	�	 �	
 +��$, ��
�����0����	 4��
�0�����
 ����� � � �	 ��� �����	
� �� ��� 
���������1�	�
���	�� 0�� 2$
�
����	 �	
 �$
���	�	 ������� 
�$��
���1�
 �	
��� �	���
������� �����	� �	
 +��$, ����	�	� 4�� ����

/��& �& 5�� =�	
���	�� ��
���1����	 �� +��$, ��������� ��� ���������	 �� ��� =�	
���	� �	
 ��� �
3�������	 �� 
��� ��������( ���- 
���� 4��� �����
 ��
���� 
�	���� �	�� ����$+$����	�$
����
 ����� 
���������� 
������
 ��� 
������	� ����� �	
 ���	 )/�
 �	 KO ����������
���
�( +��$, 
�����0����	 4��

������
 4��� ���� �� 2$
�
����	 �	
 �$
���	�	 0� ���	� �� 
�	��
�� �	������ �� ��� ������ ����	�I�����
�	
� ����	�	��( ��00�� �	��$+��$, 6��
8�
����� �	��$�$
���	�	 6����	8 �	
 ��� �	��$2$
�
����	 60���8 �	��0�
��� 4��� ���
( �	 ��� �����
 ������� ��� 4���� 
���� �	
�
���� ��� 
�$��
���1����	
�� ��� ����� ������	�� �����4 ��� 
�$��
���1����	 �� +��$, 4��� �$
���	�	� ����	�� ��� 
�$��
���1����	 �� +��$, 4��� 2$
�
����	� �	
 ����� 0��� ���

�$��
���1����	 �� �$
���	�	 4��� 2$
�
����	( 6-8 �	 
���� 
������
 ��� � �� 2$
�
����	 ������� �� ��������� �	
 ����	 ��	
���� ����	�	� �� ��� 
���:
���
0��	
��� 4���� �� 
�$��
���1�� 4��� �$
���	�	 6����� 0��� �	 ��� �����
 �����8> ���
���	�	���� 
������ 
���������
 ����	�	� ��� +��$, 
�	 0� ���	(
608 �	 
���� 
������
 ��� "!:"; �� +��$, ������� 
�$��
���1�� 4��� 2$
�
����	 �	
 �$
���	�	 �� ��� 
���:
��� 
�	��
� �����	�( 6(8 �	 ����� ������1�

���- 
����� +��$, 
�$��
���1�� 4��� 2$
�
����	 �	
 �$
���	�	 ���	� ��� ������� ������ ���0��	� 
����	� 0�� +��$, ��0���	� 
�	 ���� 0� ���	 �	 �
���� ���
�� �����	 6��
 �	 ��� �����
 ����� �� ��� �����
�� ��
���	8(  ��� "M ��(

�������� �� ���


���




������( 7���� ����� �������	�� 4��� 
���
������	 � 6, ��	8�
�
��	 ����
���
 �� ��� 
��� �	������� ���� ��������	� ���
������� 
�������0�� �� �
��	 )����	��� �������
 �� ���
��
�	���
������� �	
 =�	
���	�� ����	�	� 6'����� �� �
��	
����	�	�8( +��$, ��
�����0���
 ���	�� �� ��� 
������� 0��
� ��	�� ���
���	 4�� ���	���	�
 �	 ��� =�	
���	�� �����	�

�	���	�	� �	 �����0��
 �
��	 
����?�����	 6
�	��	����
�����	��� ����4���
� �	 ��� )���� �� 
��0�� �
��	 �	

+��$, ����	�	�8( �	 
�	������ ����� 
���
������	 �������	�
��
 	� ����
� �	 ��� ��
���1����	 �� 2$
�
����	 �	

�$
���	�	 6+��$,� �$
���	�	 �	
 2$
�
����	 ������ ����	$
�	�8( 7������ ����	�	� 4��� � ��0���	 �	��0�
� �������

��� �����	
� �� ��
����0��� 
�0��� ��		�	� �������� �� ���

�	��
� ���� 6
��� 	�� ���4	8� ��� �������	� 4��� �� ��
	�
�
�1��� ���� 
�������0��
 ��� ��
����0���� 6
�������

����	�	�� '����� �� E 	�
�
�1���8 ������	��� 
�
 	�� ����
�
��� =�	
���	�� ��
���1����	 �� ��� ����� ������	�(
5�� ����
�����	 �� +��$, 4��� ��� 2$
�
����	:

�$
���	�	$��
����
 �
�����	 ������ ��������� ��3�����
��� �
��	 
����?�����	(

��� $%& ������
 
���� ���	� � ��	���' (���
���������
 �
� ������
�
 �
 )%*+ �����
H� 	�/� �����
 4������ ��� ����
�����	 �� +��$, 4��� ���

�
����	$��
����
 =�	
���	�� 
����	 4�� 
�� �� ��� 
���
�
�	����
���	 4��� 
����	�	�� �� ��� �
�����	 ������(
H��	 �/���	�	� ��� �$�����	� �� 
�
����	� �	
 
���	�	�
65�0�� �8� 4� �0�����
 ��� �����	
� �� � ��.$��?� ������
��3��	
� 6$�$5$�$+8 �� ��� �$�����	�� �	
 �� �$
���	�	( ��
�� �	�������	� �� 	��� ���� ��� �$�����	�� �	
 �� �$
���	�	


�	���	�	� ��� ��. ������ ����� �� ������ 
�	�����

���������� ��������	 4��� ��� �/
�����	 �� ��� �����
�
���
������� ��������
�� 4��
� 
��� 	�� ���� � +��$,
�������� 6�	������ �� ��� ����� ��	��� 
��� 0�	? 0� ���	�
�� ��� '7957 � ������� �� ��� 2 � ����8 65�0�� �8(
�	 ��
�� �� ������ 4������ �$
���	�	 
�	 �	����
� 4���

+��$,� 4� �����
 ��� �0����� �� � �����
� 
�	�����	� �� ���
���� "; ���	� �
�
� �� �$
���	�	 �� 0�	
 � ��
��0�	�	�
���������	� �$���	������� 6D958%+��$,7 �����	 ������	
6-��
� �	 
�(� "##;8 6'����� K78( 5�� �����
� 
�	���	�	�
��� ��. ������ ����� �� �$
���	�	 6";���8� 0�� 	�� ���
�����
� ���� 4��
� ��� ����� 4�� ������
 6"M���8�
�����	�
 ��� ����� +��$,7 �����	 ������	(  �	
�	� 4��
���� �����	��
 0� �	 �/
��� �� ���� ";��� �����
� �	 ���
�	
�0����	 ���
���	( 5���� 
��� �	
�
��� ���� +��$, 
�	
�	����
� 4��� ��� �$�����	�� 
����	 �� �$
���	�	(
5� �	��������� 4������ +��$, �� 
���0�� �� 0�	
�	� ���

	����� �$
���	�	 �	
���	����� �/������
 �	 ���- 
�����
��� �+��$,7 ������� ����
 �� ��� D95 ������	 �	

����0���1�
 �	 9�������� 0��
� 4�� �	
�0���
 4��� �	
���- 
��� ������( 5�� 0��	
 ����
���� 4��� �������
 0�
���	� �� 9�9:�7D2 �	
 ����	�0�����	� 4��� ���
�)

�	��0�
���( 7 
�	�����	� ���
���	 �� �$
���	�	 6J"!O8 4��
�����	�
 ���
�)
���� 0� ��� D95%+��$,7 �����	 ������	
6'����� K 8� 0�� 	�� 0� ��� ����0���1�
 D95(
�	 ��
�� �� 
���	������ ��� ����
�����	 0��4��	 +��$,

�	
 �$
���	�	 �
 ����� 4� ��������
 
�$����	����
�����$
���	 �/������	��( 7	��0�
��� �����
 ����	�� ��	�����

�����
�� 
����	�
 �	 ��� +��$, ��. 
����	 4���
���
�
�
 �	 ��00���� �	
 ��
��	�1�
 � ��=�� 0�	
 �� ���

/��& �& +��$, �� ��
�����
 ������������� �	 ��� 5����	 A$"!!$�	����0�� ���
���	 �������� 4��� �$
���	�	 �	
 2$
�
����	( 6-8 ����	�I�����
�	
�

�	��
�� �	������ �� +��$,� �$
���	�	 �	
 2$
�
����	 ����	�	� ����� �/���
���	 4��� 5����	 A$"!!( ����� ���
�
 �	 
������ ��� "!:"; � 4��� �/���
��

6E 5A$"!!8 �� 	�� 6���8 4��� !(MO 5����	 A$"!! ��� �! ��	 0����� )/����	 4��� KO ����������
���
�( 5�� 
�����0����	 �� +��$, �	 ��� 
�	���� �	

������
 
���� �� ���4	( <	 ��� 5����	 A$"!!$������
 
���������� ��� ��
���1����	 �� +��$, �� 
������
 4��� ���� �� �$
���	�	 �	
 2$
�
����	( 7
����1�	��� ��
���	 �� ������ ����	�I�����
�	
� ����	�	� �� ���4	( 5�� 
������	� �������	� ������� �/���
�� ��� 
�������
 +��$,� 0�� ��� =�	
���	��
����	�	� �� ��������
(  ��� "M ��( 608 H�����	 0��� �	������ �� ��� ����	� �� +��$,� �$
���	�	 �	
 2$
�
����	 �	 ��� 5����	 A$"!!$����0�� 698 �	

$�	����0�� 6�8 ���
���	�( B���$
�	���� 
������� �� ���- 
���� 4��� �/���
��
 �	 5����	 A$"!! � �� #@ � ����� ���
�	� �	 
������( 23������	� �������
�� ��� 5����	 A$"!!$����0�� �� $�	����0�� ���
���	� 4��� ��������
 0� "!O 9�9:�7D2 �	
 ����	�����	�
 ���	� ��� �	
�
���
 �	��0�
��� 6� %8(
7 
�	
�����	� ����
�����	 �� ����� ������	� 4��� 
����?������ �����	�� 
���	� ��� =�	
���	�� ���������	 �� ��������
 0� ����� ������� ���
���	 ��
5����	 A$"!! �/���
���	(

� !���"������ �����
��
�� �& ����� #
�� �������
�


���



�/��
��
 ��0����� �	 4�����	 0���� �� ���- 
��� �������
6'����� K�8( H��	 
�	I��	� ���- 
��� ������� 4���
����	����
�������
 4��� ���� +��$, �	�������� �$
���	�	
4�� 
�$����	����
�������
( 2$
�
����	 4�� ���� ��
��$
���
 �	 ��� ����	�
�����/� ���� ��������	� ���� +��$, ��
���� �� ��� 2$
�
����	:�$
���	�	 �
�����	 ������ 6'�����
K�8( ��	���� �/������	�� ���	� ���$����	� ����� 
�	$

)���
 ��� ����
������ �� ��� ����
�����	( 5�� 
��� �/���
�
4�� ��������� ��0=�
� �� ����	����
��������	 4���
�	��$2$
�
����	 �� �$
���	�	 �	��0�
��� �	
� �	 0���

����� +��$, 4�� 
�$����	����
�������
 6'����� K28( 5�
�/
��
� ��� �����0����� ���� ��� 
�$����	����
��������	
4�� 
�� ������ �� ��� ���/����� �� +��$, �� 2$
�
����	
�	
 �$
���	�	 �	
*�� ����� 
����	 ����
�����	 4��� ���

/��& 1& 5�� =�	
���	�� ��
���1����	 �� +��$, 
���	
� �	 � ���0�� �����0��
 �
��	 
����?�����	 0�� 	�� �	 ��� ��
����0��� 
����?�����	( 5��
��
���1����	 �� +��$,� 2$
�
����	 �	
 �$
���	�	 ����� 
�������0�� �� ��� �
��	 6E 
���
������	 �8 �� ��� ��
����0��� 6E 	�
�
�1���8 
����?�����	 ��
���4	( +�4$
�	���� ���- 
���� 4��� ������
 4��� � �� 
���
������	 � ��� , ��	 �� � �� �� 4��� �� �� 	�
�
�1��� ��� � �( 5�� 
��������� 4��� 
��
�	�� �4� �����% ���� 4�� 
��0�� ����	�
 4��� ��� +��$, �	��0�
� �	
 �������
�	:'�5� 6�
��	8 �� 4��� �	��$��0���	 �	��0�
��� 6��0���	8 �	 ��
�� �� ������

����?�����	 
���������1����	 6����� ��	���8> ��� ����� ���� 4�� ������ ����	�
 4��� +��$,� �$
���	�	 �	
 2$
�
����	 �	��0�
��� 6��4�� ��	���8(
��	��
�� �	������ �� ��� ����1�	��� ��
���	� �� ���4	( ������� 
���������1����	 �� ��� �
��	 
����?�����	 6, ��	8 ���	�� ����
��
 ��� =�	
���	��
��
���1����	 �� +��$,� 4������ ��� 2$
�
����	 �	
 �$
���	�	 �����	�
 ���
���	�	��� �� ��� 
���:
��� 
�	��
��( 5�� ����4���
� �	
�
��� � 
�	��
�
�����	 �������� ��� +��$, ����	�	� �	 4��
� ��� 
����?�����	 �� ����� �����0��
( +�	��� �������	� 6� �8 
��������� 
���������1�� ��� �
��	

����?�����	 
����	� ��� 
�������
 ��
�����0����	 �� ��� ����� ������	�( ��
�
�1��� �������	� 
��� 	�� ����
� ��� =�	
���	�� ��
���1����	 �� ��� �����
������	�(  ��� �! ��(

�������� �� ���


���



/��& 2& +��$, ����� � ���E$
���	
�	� 
�����/ 4��� 2$
�
����	 �	
 �$
���	�	 ��� ��� �	����
���	 4��� ��� �$
���	�	 ��. ������ �����( 6-8 ��
��0�	�	�
D95%+��$,7 4�� �����	�
 0� ��� ";��� �����
� 
�	���	�	� ��� �$
���	�	 ��. ������ ��3��	
�� 0�� 	�� 0� ��� "M��� �����
�( 5�� ��3��	
�� �� ���
�$
���	�	 ";��� �	
 "M��� �����
�� ����0���1�
 �	 �� �$�
������
 9�������� K ��� ���4	( 7 ������ ���� 0�
����� �/������	� ��� D95%+��$,7
�����	 ������	 4�� �	
�0���
 4��� ��� �	
�
���
 ����0���1�
 �����
��(  ��	
 D95%+��$,7 4�� 
���
��
 ���	� � ��	�
��	�� �	��0�
� 
���
��
 ����	��
D95 6� %D958( ����)�
 D95%+��$,7 �����	 ������	 4�� ���
�
 �	 ��� ��� �� 
�	���� 6D95%+��$,78( �	 �

����	 �� ��� 0�	
 �� ��� �������	 �/��
��

��� ��� �����	 ������	 6����4���
8� ��4�� ����
���� 4����� 0�	
�� �������0�� 
�� �� ��� ����������� �� ��� ���
�
��� ��� ����0��( ����
���� 4�����
���	
��
� �/������
 �	 ?���
����	� ��� �	
�
���
 �	 ��� �����( 608 �$
���	�	 �� �����	�
 ���
�)
���� 0� ��� D95%+��$,7 0�� 	�� 0� D95( ���-

��� ������� 4��� �	
�0���
 4��� ����0���1�
 D95 �� D95%+��$,7 �����	 ������	( 5�� 0��	
 �������� 4�� �������
 0� "!O 9�9:�7D2 �	

����	�����	�
 4��� ��	�
��	�� �	��0�
��� 
���
��
 ����	�� �$
���	�	 6� %�$
���	�	8( 5�	 ���
�	� �� ��� ����� ���- 
��� ������ 6���- ���8 ���

�	 ��� �/������	� 4�� ���0�
 4��� ��� ���� �	��0�
�( ����
���� 4����� ���	
��
� �/������
 �	 ?���
����	� ��� �	
�
���
 �	 ��� �����( 6(8 5�� +��$,
�	��0�
� ��
��	�1�� � 0�	
 �� ��� �/��
��
 ����
���� 4����� �	 ����	�0�����	� �� ���- 
��� ������ 6����4���
8( 7 �! �� ���3��� �� 
��� ������
4�� ���0�
 4��� ��� +��$, �	��0�
� 6� %+��$,8 �����
 ����	�� ��	�����
 �����
�� 
����	�
 �	 ��� +��$, ��. 
����	 6��� ��������� �	
 �����
�8(
����
���� 4����� ���	
��
� �/������
 �	 ?���
����	� ��� �	
�
���
 �	 ��� �����( 6�8 ��$����	����
��������	 �� 2$
�
����	 �	
 �$
���	�	 4��� ���
+��$, �	��0�
�( 638 ��$����	����
��������	 �� +��$, 4��� ��� �$
���	�	 �� 2$
�
����	 �	��0�
���( 6/8 +��$, �� 	�� 
�$����	����
�������
 0� ���
��E�-E 75���� �	��0�
�( 648 +��$, �� 	�� ���	
 �	 ��� 
�����/ 4��� �$
���	�	 �	
 2$
�
����	 ����� ���$�������	� 4��� M �� 2�57( 6�:D8 5��
���- 
��� 
������� 4��� �/���
��
 �	 ����� 0����� �	
 ����	����
�������
 4��� ��� �	
�
���
 �	��0�
��� 6��%8( 5�� ����	����
�������� 4��� ���
�

�	�� �	 ""O 9�9:�����
������
� ��� �����4�
 0� ����	�0��� �	������ 4��� ��� �	
�
���
 �	��0�
��� 6� %8( 7� 
�	������ ����	����
��������	
�/������	�� 4��� ��������
 ���	� � +��$, ���$����	� ����� 6���8 �� ��� ��	�
��	�� �	��0�
� �����
 ����	�� ��E�-E 75����( H��	 �	
�
���
�
"!O �� ��� 
��� ������� 6���- ���8 ���
 �	 ��� ����	����
��������	 �/������	�� 4��� ���0�
 4��� ��� �	
�
���
 �	��0�
���(

� !���"������ �����
��
�� �& ����� #
�� �������
�


��




�
��	 
����?�����	� 4� �����
 4������ +��$, 4�� 
�$
����	����
�������
 4��� ��E�-E 75����� � 0����������*
=�	
���	�� ������	 ?	�4	 �� �	����
� 4��� ��� 
����?�����	
6�
����� �	 
�(� "##!8( ��	I��	� ���- 
��� ������� 4���
����	����
�������
 4��� ���
�)
 �	��0�
��� �����
 ����	��
��E�-E 75����� �	
 	� 
�$����	����
��������	 �� +��$,
4�� �0�����
 6'����� K'8(
��
����	� ��� ���E$
���	
�	� 
��� �
�����	 ����
�����

�	
 �� ��� 
�������	 �� �/���
������� 
��
��� 
����0���1��
��� 
��� =�	
���	� �	
 
����� ��� �	���	���1����	 �� ���
2$
�
����	:�$
���	�	 
�����/ 6+� �	 
�(� "###8( H�
�	���������
 4������ ��� ����
�����	 �� +��$, 4��� ���
2$
�
����	:�$
���	�	 
�����/ 4�� ��������
 �	 ���
�0��	
� �� �/���
������� 
��
���( H��	 ���- 
����
4��� �	
�0���
 4��� M �� 2�57 ��� �! ��	 0����� 
���
������ ��� +��$, ������	 4�� ����	����
�������
� 0��
	������ �$
���	�	 	�� 2$
�
����	 4�� ���	
 �	 ���
����	�
�����/ 6'����� KD8> 
�	�������� ��� �$
���	�	
�	��0�
��� 
�$����	����
�������
 2$
�
����	 0�� 	��
+��$,� �	
 ��� ���� ������ 4�� �0���	�
 ����� ����	�$
���
��������	 4��� ��� 2$
�
����	 �	��0�
���( 5���� 
���
������� ���� ��� ��
������	� �� +��$, �� ��� 2$
�
����	:
�$
���	�	 
�����/ ��3����� 
��
���$
���	
�	� 
���:
���
�
�����	�(


���� ���������� (��� ��� 
����
�� �������
�
������
�
 �������
 ��	���'
9�	����
 =�	
���	� �	 ��� 
�	���� 	������ ������ ���
����������
���� ������� �� ���������� �
����	� =�	
���	�
�	
 ���� �
�	��
�� ����
���� 
����	�	�� 6�
��
� �	 
�(�
"##@> 9������ �	
 �����	� "###8( D���	 ���� 0���	 +��$,
�������� ���� 0��	 �
�	��)�
 �	
 ��� �������
 �� ��
���1�
�� ��	����
 =�	
���	� 6���� �	 
�(� "###> C� �	 
�(� "###8� 4�
�	���������
 4������ +��$, 
�	 ����
���� 4��� ���

�
����	:
���	�	 
�����/ �	 0���	(
5� ���� �	
� 
�$����	����
��������	 �/������	�� 4���

��������
 ���	� ��� +��$, ����	� �����( �	 0���	 �������
��� +��$, �	��0�
� ��
��	�1�
 �� �	
 �! ?�� ������	�
6'����� M7� ����4���
�8� 4��
� 
�������	
 �� ��� �������

����
���� ������ �� 	����	�� +��$, �������� 6C� �	 
�(�
"###8( �	 ��
�� �� 
���
� 	����	�� 
�
����	�� 4� ���
 �

�����
��� ��	�
��	�� ��	$
�
����	 �	��0�
� ���� ��$

��	�1�� �$
�
����	� �	
 4��
� ����	�����	�
 � ��	���
0�	
 �� "�! ?�� �	 ��� 0���	 �������( H��	 ��� ������ 4��
����	����
�������
 4��� ��� +��$, �	��0�
�� 0���
	����	�� 
�
����	 �	
 �$
���	�	 4��� ��
�����
 �	 ���
���� ����	�
�����/( 5�� ���
�)
��� �� ��� �	����
���	
4�� 
�	)���
 0� ���	� �� 
�	���� �/������	�� ���	� �
���$����	� �����( H��	 2�57 4�� �

�
 �� ��� �����
0������ +��$, 4�� ����	����
�������
 0�� 	������ 	����$
	�� 
�
����	 	�� �$
���	�	 4�� ���	
 �	 ��� ����	�$

�����/ 6'����� M 8(
5�� 
�
����	:
���	�	 �
�����	 
�����/ ��� ��
�	���

0��	 �����
���
 �	 ��� �	����� ��������	 �� ��	����

=�	
���	�� �� 4��� �� �	 ��� ���������	 �	
 ������
��� ��
��	�����( H� ��������� �	���1�
 ��� 
�����0����	 �� +��$,
�	
 �$
���	�	 �	 �����
����� 	����	� 
������
 �� ����� ��
���� ������ �� 	����	 
��������	� �	
 ��	���� ��������	
6'����� M�8( <	�$
�� 
������
 	����	� 6" 
��8 ��
 	��
�����
 ��	������ �	
 �����	��
 �	 �������� �/�	 ���� 
�	
0� �
�	��)�
 0� ��� ������� ��	��� �	
 )	�� 
���0��� �	

������� ����� ���
����� ���� ��� ���	� 
�	
�����( 7� ����
������ +��$, ����	�	� 4�� 
������ �	 ��� ������
�	
����


�	
 �/�	�� 
��������	��( 7 ������ �	��
���	� �� 0���
�$
���	�	 �	
 +��$, 4�� �0�����
 �	 
�	
����
 6����4�8
�	
 �/�	�� ���4�� 
�	�� �	
 �	 ��� )����
�� �����	���	�
���� ��� �/�	�� ���4�� 
�	�� 6����4���
�8� 4��
� ���
������� �� �	������ ��	������	�
 �	����
���	� 6������ �	

9����� "##�8( 7���� ��	������	���� 6"M 
��8� +��$, �	

�$
���	�	 ������� 
�$��
���1�
 �	 ��	
���� ����
�����
����	��
�	� �� ��	����
 0����	� 6����4�� 0�/�
 �����	8(
5���� �	 0��� 	����	� �	
 ������1�
 ���������� 
����� +��$,
����� � 
�����/ 4��� 
�
����	 �	
 
���	�	 ���� �� �	��
��

�	 =�	
���	�� 
����	�(

/��& 5& +��$, ����
����� 4��� ��� 
�
����	:
���	�	 �
�����	 ������ �	
	����	�( 6-8 5�� +��$, �	��0�
� ��
��	�1�� �4� ���	 0�	
� �� ���
�/��
��
 ����
���� 4������ �	 ����	�0���� �� ��9 0���	 ���
���	�
6����4���
�8( 7 �! �� ���3��� �� ��9 4�� ���0�
 4��� ��� +��$,
�	��0�
� 6� %+��$,8( ����
���� 4����� ���	
��
� �/������
 �	
?���
����	� ��� �	
�
���
 �	 ��� �����( 608 +��$, ����� � ���E$

���	
�	� ����	�
�����/ 4��� �$
���	�	 �	
 
�
����	 �	 0���	(
��9 0���	 ���
���	� 4��� �/���
��
 4��� ����� 0����� 6��	����8 �� �����
0����� 
�	���	�	� M �� 2�57 6E 2�578( 5�� 0���	 �/���
�� 4���
����	����
�������
 4��� +��$, 6��%+��$,8 �� ���$����	� �����
6��%���8( 5�� ����	����
�������� 4��� ��������
 0� 9�9:�7D2� �	

����	����0�
 4��� ��� +��$,� ��� ��	�
��	�� �$
���	�	 �	
 ��� ��	$

�
����	 �	��0�
��� 6� %8( 5�	 ���
�	� �� ��� ��9 �/���
� 6 ���	 ��98
4�� ����	�����	�
 4��� ��� ���� �	��0�
���( 6(8 +��$, 
�$��
���1��
4��� �$
���	�	 �	 
������
 ��� �����
����� 	����	�( <	�$
��$��
 6" 
��8
�� "M$
��$��
 6"M 
��8 �����
����� 	����	� 4��� )/�
 �	
 
��0��
����	�
 4��� ��� +��$, �	
 �$
���	�	 �	��0�
���( �	 ��� �	
������	�����

	����	� 6" 
��8� ��� ����4� �	
�
��� ��� 
�	
����
 ���4�� 
�	��� �	
 ���
����4���
� ��� )����
�� ���	���	� ���� ��� ���4�	� �/�	 �	
 ���
�/�	�� ���4�� 
�	�( �	 ��� 
������	�����
 	����	� 6"M 
��8� ��� ����4�
�	
�
��� ����� ����	��
�	� �� ��	����
 ��0���	� �	
 �������� ���
�$
���	�	 �	
 +��$,( 5�� 0�/�
 �����	 �� ���4	 �� ������
���	�)
����	 6�(M�8 �	 ��� �	���(  ��� �! ��(

�������� �� ���


�� 



,������������
 �� 
���� �� ��� ��
����
�� ��	��
 �

� ������
�
�����
��
� 	�

�� �
� ��� ��
����
��
��
��#��
��
B���	� 
���	������
 ��� 
���
� ����
�����	 �� +��$, 4���
�$
���	�	� 4� �	���������
 4������ ��� ��
������	� ��
+��$, �� ��� =�	
���	�� 
����	� 4�� 
���	
�	� �	
�$
���	�	( 5� ���� �	
� 4� ���
 � ������ �	���
�
�
 0�
������� �	 
�( 6"##M8� 
�	�����	� �� ���	��� ������� �����
6�B<8 
���� 64��
� 	������� 
� 	�� �/����� 
�
����	�8
���0�� �/������	� ������ 4��
$���� �2$
�
����	 �� �
���	
���
 ���� ��
?�	� ��� �$
���	�	$0�	
�	� ����( H�

������
 ��� �/�������	 6'����� @78 �	
 ��
���1����	
6'����� @ 8 �� +��$,� �$
���	�	 �	
 �2$
�
����	 �	
�	���	���
��
 
���� �	
 �	 ��� ���	���
��
 
��� ��	��( 54�
�	��	�� 0�	
� �� ��� ������	� ����
���� ���� 
�������	
$
�	� �� ��� �/��
��
 ��1� ��� ��� 4��
$���� 6"�! ?��8 �	
 ���
���	
���
 �2$
�
����	 6"!! ?��8 4��� 
���
��
 0� ���	�
�� 4�����	 0��� �	������ �	 ��� �2$
�
����	 ���	���
��	��(
�� 
���
��0�� �2$
�
����	 �/�������	 �� 
�
����	 �
������
4�� ���	
 �	 ��� �	���	���
��
 
����( 9���� ����	�� ��
�$
���	�	 4��� 
���
��
 �	 �	���	���
��
 �	
 ���	
���

�2$
�
����	 ���	���
��	��( 5�� ������ �/�������	 ��
�$
���	�	 �	 4��
$���� �2$
�
����	$���	���
��
 
���� ��
���0�0�� 
�� �� ��� ���0���1����	 �� ��� �$
���	�	 4��	
�	�������
 �	 ��� 
�
����	:
���	�	 
�����/ 6������� �	 
�(�
"##M8( 7 +��$, ������� 4��� � ����
���� ���� �
�	��
�� ��
���� ���	
 �	 ���- 
���� 4�� �/������
 �3����� �	 ���
����� 
��� ��	��( ����	�I�����
�	
� ���4�
 ���� +��$,
�	
 �$
���	�	 ��
���1�
 �� ��� 
������ �� �B< 
����� 0��
���	 ��� �/�������	 �� 4��
$���� �2$
�
����	� +��$,
��
�����0���
 �� ��� =�	
���	� 4���� �� 
�$��
���1�
 4���
�$
���	�	( 5��� ��
���1����	 4�� 
�� �� ��� �����	
� ��
�$
���	�	 �� ��� =�	
���	� 0�
����� �������� �����	�
�
������ =�	
���	� 6������� �	 
�(� "##M8� ��� 
����
�/������	� ���	
���
 �2$
�
����	 �����
 �� ��
����
�$
���	�	 �� ��� 
�
����	$��
����
 �
�����	� �	
 +��$,
�����	�
 �	 ��� 
������( 5�� ��0
������� 
�����0����	 ��
+��$, ��������� ����� �� 0� ��������
 0� ��� 0�	
�	� ��
�$
���	�	(
H� ���	 �	���1�
 ��� ��	
���	�� 
�	��3��	
�� �� +��$,

��
������	� �� ��� =�	
���	�( ���- 
���� �/����
 ��
�������	�
 
�	
����	� �/������
 ��� ���������� D7 7
���	������� 6 D5$"8> 4� ���� ���4	 ���������� ���� ����
���	������� �� � ����	�� �� +��$, �	
 ���� ����� �	����
���	
���
� �� ��� ������ ���0��	�  D5$" ����	���	( 5��
�����	���	 �� 
��������	 �� +��$,: D5$" 0�	
�	� 
����$
��	�
 ��� �	���	���1����	 �� ��� ���	������� �	
 ���
�

��������	 �	 �	 �	���
������� ��
�
��	� 
��������	�
6������ �	 
�(� "###8( D���	 ���� +��$, �	����
�� 4���
 D5$" �� ��� ������ ���0��	�� 4� �/��
��
 �� )	

�����
�  D5$" �

��������	 �	�� �	 ��� �B< 
���� �	
4��
� +��$, 4�� ��
���1�
 �� ��� =�	
���	�( 5�� ����� �B<

��� ��	�� 4��� ���	���
��
 �	
���
����� 4���  D5$" 
��7
�	
 ���	������� 
�����0����	 4�� �	���1�
 0� ���	� ��
����	�I�����
�	
� ����	�	�(  D5$" 4�� �����	�
 �� ���
=�	
���	�� 
����	 �	�� �	 4��
$���� �2$
�
����	 ���	�$
��
��	��� 4������ �� �

�������
 �	 ��� �	���
�������
����
����� �� 
���� �	 4��
� +��$, �����	�
 
�������

6�	���	���
��
 �B< 
���� �	
 
���� ���	���
��
 4���
���	
���
 �2$
�
����	8 6'����� @�8( 5���� ������� 
�	)��
���� +��$, �� ��
�����
 �� ��� =�	
���	�� 
����	 �	�� �	

���� �/������	� 4��
$���� �2$
�
����	 �	
 ����� �	
�

������ �� ��� ���� � ���� �	 ����	�1�	� ��� 
����	 �������
��� ����	���	 �� �	����
��	� ������	�(

 
�����
��

,������	�
� �� 
���� �� ��� ��
����
�� ��	��

�	 ���� ���
�� 4� �	���������
 ��� ��
��	���� 0� 4��
� �

����	�	� �� ��� �������
 
�����/ �� ��
�����
 �� ���
=�	
���	�� 
����	( H� ���	
 ����� 
���	� ����0������	� ��

��� ��������� +��$, ���	���
���� ���� ��� 
������ ��

/��& 6& 5�� =�	
���	�� ��
���1����	 �� �$
���	�	 ��
����� ���
��
�����0����	 �� +��$,( 6-8 H�����	 0��� �	������ �� +��$,� �$
���	�	
�	
 �2$
�
����	 �/�������	 �	 �	���	���
��
 �B< 
���� 6�B<8� �	

�B< 
���� ���	���
��
 4��� 4��
$���� 6�B< E �28 �� ���	
���

�2$
�
����	 6�B< E �2�8( 7 �! �� ���3��� �� ��� ����� ������	� ����
��
� 
��� ��	� 4�� ���
�
 �	�� �	 ""O 9�9:�����
������
� ��� �	

����	����0�
 4��� ��� �	
�
���
 �	��0�
��� 6� %8(  �	
� 
�������	
$
�	� �� ��� 4��
$���� 6J"�! ?��8 �	
 ���	
���
 6J"!! ?��8 �2$
�
����	
4��� �������
 0� ���
�)
 ����	�	�( 5�� �B< 
���� ���	���
��
 4���
4��
$���� �2$
�
����	 �/����� ������ ����	�� �� �$
���	�	( 7	 �3���
����� �� +��$, �/�������	 4�� 
���
��
 �	 ��� ����� 
��� ��	��(
����
���� 4����� ���	
��
� �/������
 �	 ?���
����	� ��� �	
�
���

�	 ��� ����( 608 ����	���
���1����	 �� �$
���	�	 �	
 +��$, �	
�	���	���
��
 �	
 ���	���
��
 �B< 
����( 5�� 
���� 4��� )/�
 �	 KO
����������
���
� �	
 
��0�� ����	�
 4��� ��� �$
���	�	 �	
 +��$,
�	��0�
���( 5�� �����	
� �� �$
���	�	 �� ��� =�	
���	 
������	�� ���
��
�����0����	 �� +��$, ���� ��� 
������ �� ��� =�	
���	�( 6(8 ����	�$
��
���1����	 �� ��� ���������� D7 7 ���	�������  D5$" �	 �	���	���
��

�	
 ���	���
��
 �B< 
����( 5�� 
���� 4��� ���	���	��� ���	���
��
 4���
���  D5$" 
��7 �	
� K; � ������ 4��� )/�
 �	 KO ����������
���
�
�	
 ���
����
 ��� ����	�I�����
�	
� ���	� �	 �	��0�
� �����
 ����	��
���  D5$" ���	������� 6 D5$-+B �	��0�
�> ������ �	 
�(� "##,8( <	��
�B< 
���� ��
���1�	� +��$, �� ��� =�	
���	� �����	 �	
 �

������� ���
 D5$" ���	������� �� ��� 
��� �����
�(  ��% 6 8 �! ��> 6�8 "M ��(

� !���"������ �����
��
�� �& ����� #
�� �������
�


���




�
����	$��
����
 
���:
��� 
�	��
��� 4���� �� �

���$
����� ������������� �	��� �� ���
��� � 
������� =�	
���	��
��
���1����	 �	 ����� ������1�
 ���- 
����( �	 �����
�����
��� ��
������	� ������� �� 
��	
�
� 4��� ��� ���������	 ��
��� =�	
���	�� 
����	 0�
����% 6�8 �	 ���- 
����� +��$,
4�� �	�� 
�	���	�
 �	 ����	�1�
 
�	��
�� 6�	 4��
�
2$
�
����	 �������
 �� � 
�	��	���� ��	� ������ ����� �	
4��
� 
�
����	 ����	�	� 4�� ���������> '����� "8> 6��8 �	
	����	�� ����� 4�� 
������ +��$, �	
 �$
���	�	 ����	�	� �	
��� �������� �/�	� �	
 
�	
����� 0����� ��	������	����
0��� �����4��
�� +��$, ������� 
�$
�����0���
 4���
�$
���	�	 �� ��	����
 ����� 6'����� M8> �	
 6���8 ���
=�	
���	�� 0�� 	�� ��� 
�������
 +��$, 4�� 5����	 A$"!!
�	����0��� �	
 ��� ����	� �� +��$, ���	
 �	 ��� 5����	
A$"!!$�	����0�� ���
���	 �	
�����
 ������������� 4��� ���
���� �� 
������� ���� ���������	� ��� 5����	 A$"!!
�	����0����� �� 2$
�
����	 �	
 �$
���	�	 6'����� �8(
�	 �	 ������� �� 
������ ��� ����
���� 0���� �� ���

=�	
���	�� ��
������	� �� +��$,� 4� 
�����
 ��� ��)	���

������������� �	
 
�$����	����
��������	 �/����$
��	��( 7 
�����/ 
�	���	�	� 2$
�
����	� �$
���	�	 �	

+��$, 
���
 0� 
���	������
 �	 ��������� �	
 	����	� 0�
���	� �� 
�$����	����
��������	( 5�� ����
�����	 4��

��
��� 
���	
�	� �	
 ���
�)
� 0�
���� 	� 
�$����	�$
���
��������	 4�� �0���	�
 ���	� ���$����	� ����(
'����������� ��� ����
�����	 �� +��$, 4��� ��� 
�
����	:

���	�	 �
�����	 ������ 4�� 	�� 
�� �� ��� �����
��
���/����� �� ��� ������	� �� ����� �	����
���	� 4��� ���
�
��	 
����?�����	 0�
���� 	� 
�$����	����
��������	 ��
+��$, 4�� �0�����
 4��� ��E�-E 75����� � ������	 ����
��
���1�� �	 ��� 0����������*=�	
���	�� 
����	 �	
 �	����
��
4��� ��� �
��	 
����?�����	 6�
����� �	 
�(� "##!8( 5��
����
�����	 0��4��	 +��$, �	
 ��� 2$
�
����	:�$
���	�	

�����/ 4�� ��
����
 0� ��� ��. ������ ����� ��
�$
���	�	 0�
���� ��
��0�	�	� D95%+��$,7 ���� �
0�
������ ������ 4�� �����	�
 0� � �$
���	�	 ��	�����

�����
� 
�	���	�	� ��� ��. ������ ����� 60�� 	�� 0� ���
�����
� ��
?�	� ��� ��.$0�	
�	� ����8� �	
 ��� 0�	
�	� 4��

������
 0� �	 �/
��� �� ���� �$
���	�	 �����
�( 7	������
�� ��� �/�������	 �� �$
���	�	 �	
 +��$, ����������
��������	 �������
 � ������� ��	? 0��4��	 ����% ���
�$�����	�� �	
 �� �$
���	�	 �� 
�	�����
 �	 ����	����
�/������	� +��$, 0�� 	�� �	 ��� ����� ����������
� �	 4��
�
��	���
 +��$, ��� 	�� 0��	 ���	
 6 +7957 �	������8(
B���	� ����0�����
 ��� �/����	
� �� � 
���
� �	����
���	

0��4��	 �$
���	�	 �	
 +��$,� 4� �	���������
 ��� ��	
$
���	�� ���	�)
�	
�( ���	� �B< 
���� ���	���
��
 4��� �
4��
$���� �� � ���	
���
 �2$
�
����	 ��
?�	� ��� 0�	
�	�
���� ��� �$
���	�	� 4� ���	
 ���� ��� ��
������	� �� +��$,

���	
�
 �	 ��� �����	
� �� �$
���	�	 �� ��� =�	
���	��
���� ��������	� ���� +��$,:�$
���	�	 0�	
�	� ��� ��
�$
��� ��� =�	
���	�� ��
���1����	 �� +��$,(
B�4����� +��$, 4�� 	�� ��
�����
 �	 ����� 
�	��
��� �	


��� ����
�����	 4��� ��� 
�
����	:�$
���	�	 
�	��
�� ���$
������
 ��� ���������	 �� ��� =�	
���	�( C�	
���	�� �����$
����	 �	
 
��� �������� 
��������	� ��� �

����	��
 0�

���������������	 �� ��� 
����	�	�� �� ��� �
�����	
������ 6��	��� �	
 ���	��
�� "##,> +�����	�	� �	 
�(�
"##,8� �	
 ��	� ������	 ������	� ������������ �	

���	���	� ����
���� ���� 0��	 ���	
 �� �

������� �	
��� ������ =�	
���	� 6��	��� �	
 ���	��
�� "##,8( <��
�������	��� ������� �	
�
��� ���� ������	�$�������������

�$
���	�	 �� 	�� �����	�
 �	 ��� ����0���1�
 D95%+��$,7

�����	 ������	� ���� ��������	� ���� ��� ����
�����	
0��4��	 ����� ������	� �� ��������
 0� ������	� ����$
����������	( 5��� ��� �/����	 4�� ��� ��
������	� ��
+��$, ��������� =�	
���	�� ���������	� �	
 �������� ���
���������� ���� �$
���	�	 ����� � ���� �	 +��$, ��
���1�$
���	( 5�� ����
�����	 �� +��$, 4��� ��� ������ ������	 ���
��������� 0� ��������
 0� ����$���	������	�� ��
�)
����	��
�� ��� 0��	 
�
���	��
 �	 ��� 
��� �� ��� ��. ������	

��
� ����� �+D� 4���� �	����
���	 4��� ��� ��	����


�����/ �� ��������
 0� � 
7��$
���	
�	� ?�	��� ��$

���	
�	� ��������������	 
���	� 	����	�� 
��������	�
�	
 ������
��� 6B� -�� �	 
�(� "###8(
5�� ��3������	� ��� �$
���	�	 �	 +��$, ��
���1����	


���
 ���� 0� �/����	�
 0� ��� ���� �	 ����	�1�	� ��� �
��	

����?�����	 �� ��� =�	
���	�� 
����	( 5��� 4���
 0� �	
��	� 4��� ��� )	
�	� ���� 
���������1����	 �� ��� �
��	

����?�����	 
����
 � ����
 ����
����	 �� +��$, �� ���

������( 9�	
� �79-� 0�� 	�� +��$,� 
�	���	� 0�	
�	�
����� ��� �	����
���	� 4��� 
����?������ ������	� 6����	
�	 
�(� "##;8� ��� ����
�����	 �� +��$, 4��� ��� 
����?�$
����	 �����
 0� ��
����
 0� ��� 0�	
�	� �� �79-( 5��
������� �0���	�
 0� 9������� �	 
�( 6�!!!8 ���4�	� ���� ���
0�	
�	� ���� ��� �79- ��
����� ��� 0���������� ��
���1�$
���	 �� +��$, ������� ���� �����0�����(
5�� �	����
���	 4��� �$
���	�	 6��
����
 0� ��� ��.


����	8 �	
 ��� 
����?�����	 6��
����
 0� ��� 0�	
�	�
���� ��� �79-8 ��� 
�	���0��� �� ��� ��
���1����	 �� +��$,
�� 
�
����	$��
����
 =�	
���	�( ������� ��	�� �� ���
�	
�
�	
�
��� ���� ��� �������	� �� ��. ������	� �� ��� �����$
������ ������ ���0��	� �����	 ������ �	 0��� ��. �	

	�	$��. 
����	�� �	
 ���� ��� ��. 
����	� 0�	
�	� ��
������ ������	� ����
� ��� ��)
��	
� �	
 ��� ���
�)
��� ��
��� �������	� 6+�� �	 
�(� "##@> H� �	 
�(� "##;> '���	����	
�	 
�(� "###8(

-�
����
�� ��
��#��
��� �� 
���� ��
����
��
�������	�
�
<�� 
��� �	
�
��� ���� +��$, �� � 
����	�	� �� ���

�
����	$��
����
 �
�����	 ���� �� 
����	 �� ��� ���$
�	
 ����$��	����
 
��������	��� �� 4��� �� �� ����������
=�	
���	�> 0�� 4��� ��� ��� ��	
���	�� 
�	��3��	
�� ��
+��$,:�$
���	�	 0�	
�	� �� ��� =�	
���	�P H� ����

���	������
 ���������� ���� +��$, 
����� ��� ����
����
�

��������	 �� ��� �	����
��	�  D5$" ���	������� �	 ���
0���������� =�	
���	�� 
����	 �� ���- 
���� 0� ���	� ��
����	���	�� ��
��	����� �	
 ���� ��� 
��������	 �� +��$,:
 D5$" 0�	
�	� 
����� �	���
�������  D5$" �

��������	
6������ �	 
�(� "###8(  � �	������ +��$, 0�	
�	� ��
�$
���	�	 ����� 
�	���� ��� ����	� �� 
�������
 �$
���	�	
���� �� ���� �� ��	
���	 �� � 
��
������� �� ��	� �/�������	
6D��0�	��� "##M8( 5��� ����
� 4�� 	�� �	���������
 �	 ����
���
�� 0�� 4� ���� 
�
���	��
 ����� �	
� ��
�����
 �� ���
=�	
���	�� +��$, �����
������ �	 ��� ����	�1����	 �� ����

����	 0� ��
���1�	� �	
 �

�������	� 0�	
�	� ����	���(
���	� �B< 
����� 4� ���	
 ���� �	�� ��� +��$, ��
�����

�	 ��� �$
���	�	$
�	���	�	� =�	
���	� �� 
���0�� �� �����	$
�	� ��� ���������� D7 7 ���	������� �� ��� �����
� 
����	�
4������ ��� ���	������� �

�������
 �	 �	 �	���
�������

��������	� �	 ��� 
���� 	�� 
�	���	�	� +��$, �� ���
=�	
���	�( 5��� ������ ������� ����� �� 
�
���	��
 �	 ���

��� �� ����� ��. ������	� 6B��� �	 
�(� "##@> B���� �	 
�(�
"##;8� ��� ��	��� ��.$
�	���	�	� ������	 +��$, ���
�	����
� 4��� 
������	� ����	��� 6�$
���	�	 �	
  D5$"8 �	

�������� �� ���


��!



��� ���� 
��� ����( �� �� 	�� ��� 
���� 4������ ��� ����
+��$, ������� ����� � ��	��� 
�����/ 
�	���	�	� 0���
�$
���	�	 �	
  D5$"� �� �������� 
�����/�� 
�	���	�	�
������ �	� �� ��� ������ 	�� 4������ ��� 
���������	 ��
����� 
�����/�� �� ��������
 
���	� ��� 
��������	� ��

��� ��������( 9�	
� ������� +��$, �������� ��� �/������

�	 ��������� �	
 	����	�� �	
 +��$, 
�	 ����
���� 4���
�79- �� ����� ���0��� �� ��� ���0��	�$����
����

���	����� ?�	��� ��0������ 6�7+�% ������	� ����
����

4��� +��$,> -��0���� �	 
�(� �!!!8 ��� ��� 	�	$��.

����	� �� �� �����0�� ���� +��$, ����� �������� 
��$
���/�� 
����
����1�
 0� � ���
�)
 ����
���� 
���������	(
B�4����� �� �� �	�������	� �� 	��� ���� �$
���	�	 ����
������� �� 0� � 0�	
�	� ����	�� �� ��� ��. ������	�7D� "�
0�� 4������ ��� �	����
���	 4��� �7D� " �

��� ���	��
�	
�� 
�	
����	� �� ���E 
�������	 6��0������?��� �	

C����� �!!!8� 4� ���	
 ���� ��� �	����
���	 4��� +��$,
4�� 
�������
 0� ���E 
�������	� ���� ��������	� ���� ���

���������	 �� ��� 
�����/�� ��� 0� ��������
 
���	� ���
�
3�������	 �� 
��� ��������(
+��$, �� � 
����	�	� �� ��� �������������
 
�����/

��� ���� � ������� ���� �	 
�����	� ��� 
�
����	:
���	�	
������ 6��� +��$,8 �� ��� 
��� �
�����	 ����
��� 	����/�	
�� ��� �����/ ��
����� ��	
�
�	 6��� �79-8( D���	 ����
�4� 
������	� 
����	�	�� �� ����� �
�����	 �������
6�$
���	�	 �	
 �79-8 ��� 0��� ��	
���	 �� 
�$�
��������
�� ��	� �/�������	 6D��0�	��� "##M> B���� �	 
�(� �!!!8�
��� ��	? 0��4��	 ��� ������� �
�����	 ������� ��� 0�
�������	� ��� ��� �	��������	 �	
 ���
����	� �� �	�����$
���	 ���� ��� =�	
���	 �	 ��
�� �� ��	����� �	���
�������
���	���	�(

�����
��� ��� �������

*��� �������� �
� �����	�
��
���- �����	 �� 
���� 4��� 
������
 �� ���������� 
��
��0�
 6������ �	 
�(�
"##,8( B���$
�	���� 
������� 6M � "!M 
����*�M �� 
������� 
���8 4���
���
�
 �	 ����$+$����	�$
����
 ����� 
���������� �� 5��	�4��� )���� �	�����
6!(K �� �����> ������8� �	
 ���
����
 ��� ����	�I�����
�	
� ��
0��
����
�� ���
��� �� 
������	� �����( 7� � � ����� ���
�	� �	 
������� ���

���� �����	��
 ������ 
���:
��� 
�	��
�� 6����� 
�	��
��8> ����� "!:"; � �	

������� ���� 4��� 
����
����1�
 0� 
�	��	���� 
���:
��� 
�	��
�� 0�� �����
��
 � �����
 ����������> ����� LM 
���� ���� ��
 � ����� ������1�

���	�����( +�4$
�	���� 
������� 6M � "!K 
����*�M �� 
������� 
���8
4��� ���
 4��	 �	
�
���
(
�B< 
����� �	���	���
��
 �	
 ���	���
��
 4��� ��� 4��
$���� �	


���	
���
 ����	 �2$
�
����	 6������� �	 
�(� "##M8� 4��� 
������
 �	
���0�

�Q� ��
�)�
 2����Q� ��
��� 4��� "!O ����� 
��� �����( 5���
4��� � ?�	
 ���� ���� ��� ��0������� �� �� ��=�	�( �B< 
���� 4���
���	���	��� ���	���
��
 4��� ��� 
��7 �	
�
�	�  D5$" ���	� ��� 
��
���
��������� �����
 6������	� �	 
�(� "##K8(
5�� ������� �����
����� 	����	� 4��� � ?�	
 ���� ���� ��� ��0�������

�� �� ��������� �	
 4��� 
������
 �� 
��
��0�
 0� D����	 �	
  �	?��
6"##"8( 7���� " �� "M 
��� �	 
������� ��� 	����	� 4��� )/�
 �	

���
����
 ��� ����	�I����
�	
� 6������	 �	 
�(� "##"8(

$��	��� �
��������
5�� �	����� ����	�I�����
�	
� �/������	�� 4��� ��������
 ���	� ���
���������� 
��
��0�
 ��)	���$����)�
 ����
��	�� �	������� �����
 ����	��
���	� �
�
� ;@:�!, �� �+��$,7 6������ �	 
�(� "###8( 9������ �������
4��� �0���	�
 4��� ��� ��00�� ����
��	�� �	��$+�� , �	��0�
� ���
 �	 ����
���
�� 4��
� 4�� ���
�
�
 ����	�� ��	�����
 �����
�� 
�������	
�	� ��
���	� �
�
� ""!:"�M �	
 "�@:"KM �� ����� +��$,7*����$� ��. 
����	
6 ��� �	 
�(� "##;> -��
� �	 
�(� "##;8( ������	�� 4��� �

�
 �� ���
�$�����	� �� ��� ��	�����
 �����
�� �� ��
������� 
�����	� �� ?������ ������
����
��	�	� 4��� ��� �����	�1����	 �	
 �	=�
���	 �� ��� ��00��� 0��	�
��������
 �� ���������� 
��
��0�
 6������	� �	 
�(� "##K8( 5�� �����4�	�
��	�
��	�� �	��0�
��� 4��� ���� ���
% �	��$�$
���	�	 65��	�
�
���	
+�0���������> 9����8� �	��$��	 
�
����	 69����8� �	��$��0���	

6 �����	��� ��		����8� �	��$D95 69�	�� ���18� �	��$2$
�
����	
6���������	 
��	� �2��7$"> 9����8 �	
 �	��$�2$
�
����	 6���� ��
�� ��=�	�8( '������
��	 �������
��	��� 6'�5�8$��0���
 �������
�	
69����8 4�� ���
 �� 
���
� )����	���� �
��	 6)	�� 
�	
�	������	
"�M 	�*��8(

�		�
��������	�����
5�� 
���� 4��� )/�
 �	 KO ����������
���
� �	
 ������0���1�
 4���
!(MO 5����	 A$"!!( ����	�����	�	� 4��� ������� �	��0�
��� 4��
�����4�
 0� �	
�0����	 4��� ���
���	�$
�	=�����
 �	��$��00��� ���$

�	=�����
 �	��$��� 62$
�
����	8� '�5�$
�	=�����
 �	��$����� �� ��M$

�	=�����
 �	��$����� 6������ ����	�I�����
�	
�8 ��D ���� C�
?��	
����	�������
� 6H��� D����� �78( H���� �	
�
���
� ��� 
���� 4���
�/���
��
 �	 �/���
���	 0����� 6M! ������� "! �� ���29 �B @(;� � ��
������ !(MO 5����	 A$"!!� �!! �� ��
����8 �� K�� ��� "! ��	 0�����
����������
���
� )/����	(
5�� 
�	��
�� ������ 4��� �0���	�
 ���	� �  ��$��
 ���$"!�K


�	��
�� ��
���
���(

�����
 �� !! �'�������
 �
� (�����
 ���� �
������
���- 
���� ���4	 �	 ����� 
����� 4��� 4����
 �4�
� 4��� ���E$ �	

���E$
�	���	�	� ���������$0������
 ����	� 6� 98 �	
 ���	 �	
�0���
 �	
�/���
���	 0����� F"M! ������� "! �� 5���:B�� �B ,(K� " ��������
!(MO 5����	 A$"!!� !(" �� ���	�������������	�� I����
� 6��9'8 �	
 �

�
?���� �� �������� �	��0�����G ��� �! ��	 �	 �
� �	
�� ��	��� ��������	(
5�� �/���
���	 0����� 4�� 
����
��
 �	
 
�	�������
 �� "K !!! � ��� M ��	
�� K��� �	
 ��� �����	���	� 4�� 
�)	�
 �� ��� 5����	 A$"!!$����0��
���
���	( 7���� �/���
���	� ��� 
���� 4��� 4����
 ��	��� �4�
� 4��� ���E$
�	
 ���E$
�	���	�	� � 9 �	
 ���	 �/���
��
 ���	� ��� ���� ������ ��
�/���
���	 0����� 4��� !(MO 9�9 ��� �! ��	( 5�� �/���
� 4�� 
����
��

�	
 
�	�������
 �� "K !!! � ��� M ��	 �� K��� �	
 ��� �����	���	� 4��

�)	�
 �� ��� 5����	 A$"!!$�	����0�� ���
���	( 5�� ���� ������ ��
5����	 A$"!!$����0�� �	
 $�	����0�� ���
���	� 4�� ����0���1�
 �	
����0���1����	 0����� 6������ �	 
�(� "###8� ���
�
 �	�� � "!O 9�9:
�����
������
� ��� �	
 0�����
 �	�� 	����
�������� ���0��	�� �� "�! �7
����	����( �	 ��� �/������	�� ��������
 ���	� �B< 
����� ��� 
���� 4���
����0���1�
 �	 � ����0���1����	 0����� �� 
��
��0�
 �	 ������ �	 
�( 6�!!!8�
�	
 �3��� ����	�� 4��� ���
�
 �	�� �	 ""O 9�9:�����
������
� ���
�	
 ����	�0�����
( 5�� 0���� 4��� ����	�����	�
 4��� F"�M�G������	 7
67�������8 �� ��� ��
�	
��� �����	� 6������ �	 
�(� �!!!8 �� 4��� �	��$
��D �� ������	 7 
�	=�����
 �� ����/�
��� 69�������	�� H��� �����
��/���� ��	�������� ��0������> ����
�8(

%������	��� �� ��� �����"�����
 �
 )%*+ �����
�	 ��
�� �� 
������ ��� �
��	 
����?�����	� ��� 
���� 4��� ������
 4��� � ��

���
������	 � 69����8 �	 	����� ��
��� ��� , ��	 �� � � �� �,��
6����?� �	 
�(� "##@8( 5� 
������ ��� ��
����0����� ��� 
���� 4���
�	
�0���
 �	 	����� ��
��� �� K�� ��� �! ��	� �	
 ���	 ��� ��
��� 4��
��������	��
 4��� �� �� 	�
�
�1��� 69����8 �	
 ��� 
���� �	
�0���
 ��
K�� ��� � ������� �! ��	( '�	����� ��� 
���� 4��� ���	������
 �� �,�� ��� " �
�	 ��� 
�	��	���� �����	
� �� 	�
�
�1��� 6����?� �	 
�(� "##@8(

�		�
�������������

���� ���� ���
	�( 5�� ���- 
���� 6� � "!, 
����8 4��� 4����
 �4�
�
4��� 
��
 ���E$ �	
 ���E$
�	���	�	� � 9� �
����
 4��� � ��00��
����
���	 �	
 
�	�������
 �� ;!! � ��� "! ��	 �� K��( 5�� ������ 4��
�������	
�
 �	 ����� 0����� 6"!! �� ����� �M �� 5���:B�� �B ,(K�
" �������� "O 5����	 A$"!!� !(" �� ��9' �	
 � 
�
?���� �� ��������
�	��0�����8 6B��?�	 �	 
�(� "##K8 4��� �� 4������ M �� 2�57� �	

�	
�0���
 �� K�� ��� �! ��	( �	 �	� ��� �� ����	����
��������	
�/������	�� 6'����� K2 �	
 '8� ��� 
���� 4��� ������	�1�
 0� ���	�
�� �������
 �������� ������� � 0���$0����	� ������	�1��( 5�� ����$
	�
���� �����	���	� 6��98 4�� 
�	�������
 �� "!! !!! � ��� " �� �	
 ���
������ ����
 �� 
��
��0�
 �0���(

��
�
 ���
	�� 7����/������� !(M � �� ��� 0���	 4�� ������	�1�
 �	 K ����
64*�8 �� 0����� 
�	���	�	� ��! �� ��
���� �	
 K �� B2�29:��<B
�B ,(�( 5�� ������	��� 4�� 
�	�������
 �� ;!! � ��� "! ��	 �� K�� �	
��
�� �� �0���	 � ��9� 4��
� 4�� ���	 �	
�0���
 ��� �! ��	 �� K��4��� �	
�3��� ������ �� �� ����� 0������ 4��� �� 4������ "! �� 2�57(
7���� 
�	����������	 �� "K !!! � ��� "M ��	 �� K��� ��� 0���	 �� ���-


��� ������� 4��� �	
�0���
 ����	���� �� K�� 4��� �	��$+��$, ��00��
����
��	�� ����� �� � ���$����	� ����� 6"%"!!8� ��	�
��	�� �	��$
�$
���	�	 6M ��8� �	��$2$
�
����	 6M! ��8 �	
 �	��$��	$
�
����	 6M! ��8
�	��0�
���> �! �� �� ������	 7:9�������� 4��� �

�
� �	
 ��� 0��
$0��	

����	�
�����/�� 4��� ��
�����
 ����� � �� 4����
 ���� ����� 4��� �����
0������ ����0���1�
 4��� ���
�	� 0������ ��������
 0� 9�9:�7D2 �	


� !���"������ �����
��
�� �& ����� #
�� �������
�


���



�	���1�
 0� ���	� �� ����	�0�����	� 4��� ��� ����������� �	��0�
���(
5�� ����	����
��������	 ������� ���4	 �	 ��� 0��
����
�� )����� 
���
���� ��� ���� ���( 2�
� ����	����
������� 6��8 4�� ���
�
 �	�� � ��	���
��	� ���� 4�� 
�� �� ��� ����� �� ��� K� ?�� ����
���� 4����� ���	
��
(
5�� ����� ���� 4�� ����	�
 ��3��	������ 4��� ��� �$
���	�	 �	
 
�
����	
�	��0�
���� 4������ ��� ��4�� ���� 4�� ����	�����	�
 4��� ��� +��$,
�	��0�
�( H����	 ��
� ��� �� 0�	
�� ��� �/������ ���� ��� ��
� �	��0�
�
4�� ��� ����(

.�/
��� ����	��������� ������
5�� �/�������	 �� �+��$,7 ����
 �� D95 �	
 �	�����
 �	�� ��� �D2A$"
��
��� 6-��
� �	 
�(� "##;8 4�� �	
�
�
 �	 ����������
 ���� �B M�( 5��
�����	 ������	 4�� ����)�
 �	 ���������	�:9�������� K 6������
��8
�����4�	� ��� ��	���
�����Q� �����
��(

��
��
� � �������


	 !�"#$%�&'( 	� ��������)�� ���	����(  �
������
������� 
�	���	�	� J� �� �� D95%+��$,7 4��� �	
�0���
 4��� J�! �� ��
�����
�� ����0���1�
 �	 �� �$�
������
 9�������� K 6������
��8( �	

���������	 �/������	��� @! �� �� ���� �����
�� 4��� ���$�	
�0���
 4���
��� 0�
������ ������ ��� � � �� ���� ����������� 0����� ����	����
�	
�0����	 4��� ��� 9��������$0��	
 �����
��( '��� 4����� 4��� 
�����

��� �� K�� ���	� "(M �� �� � 9 
�	���	�	� !(MO 5����	 A$"!! 6M!O �� ���

������	� 
�	
�	������	 �	 ��� 0�
������ ������8( 5�� ������	� 0��	
 �� ���
9�������� 0��
� 4��� ����0���1�
� ���
�
 �	�� � "!O 9�9:�����
����$
��
� ��� �	
 0�����
( 5�� 0��	
 D95%+��$,7 �����	 ������	 4��

���
��
 ���	� � ��	�
��	�� �	��0�
� 
���
��
 ����	�� D95 69�	�� ���18(

��
��
� � ���� ���� ���
	� 	� ��������)�� !�" �� !�"#$%�&'(����-

���� 6M � "!@ 
����8 4��� ����0���1�
 �	 ����0���1����	 0����� F"!! ��
����� �M �� 5���:B�� �B ,(K� " �� ������ !(MO ��$K!� M ��

������������� 6�558� !(" �� ��9' �	
 � 
�
?���� �� �������� �	��0�����G
�	
 �	
�0���
 ����	���� 4��� J� �� �� ��� D95%+��$,7 �����	 ������	 ��
4��� D95 ����0���1�
 �	 9�������� 0��
�( '��� 4����� 4��� 
�����
 ���
�� K�� ���	� "(M �� �� � 9 
�	���	�	� !(MO ��$K!� �	
 ��� ������	� 4���
�����
 4��� 9�9:�7D2 ���
�	� 0�����( 5�� 0��	
 �������� 4�� �������

0� 9�9:�7D2� ���	������
 �� � 	����
�������� ���0��	� �	
 ����	�$
����	�
 ���	� ��� ��	�
��	�� �	��0�
� 
���
��
 ����	�� �$
���	�	(

,�-��#����������

H� 4���
 ��?� �� ���	? �� 9(-(-�� ��� ��� D95%+��$,7 �����	 ������	�
�� 2(��=�	� ��� ��� �B< 
���� ���	���
��
 4��� ��� 4��
$���� �	

���	
���
 ����	 �2$
�
����	� �� �(�������� ��� ��� �����
�����
	����	�� �� 7('���� ��� ��� �������	
� �	 
��� 0�	? �	������� ���
'(�����	�� �	
 �( ������ ��� ����� ������� ���������	� �	
 
����	�� �	
��� ��	��
����� �	
 -(9���� ��� ��� ���� �	 �������	� ��� ��/�(

��&�������

7
�����(+(� �����	�H(C( �	
 9�����9(C( 6"##@8 N��	�������� �	������ ��

�
����	:
���	�	:�
��	 ������	�1����	 
���	� 
��������	� �� 
���:

��� �
�����	( *� ���� ������ �15� ";##:"#""(

7	����� (�  �����7( �	
 �����	�H(C( 6"##@8 ��
��	��� ��� ���	�����	
���� �	����� �� ���0�� 
���:
��� �
�����	% ?�	���
 �	������ ��
2$
�
����	$��
����
 �
�����	 ���	� � 3��	�������� �
�����	 �����(
*� ���� ������ �12� MK#:MM,(

 ����C(�(� 9��������9(H(� -��
��9(�(� 
� 5�

��$ �����(� -���	��(2(�
-��	�?��(� 5��	����(9(� -���9(-( �	
 ��������� ( 6"##;8
�
�	��)
����	 �� �	 ��������	����� 
�	�����
 �������������
 ������	

�����/ �	�����
 �	 ������	 �������	�( *� ����� ������ ��1� �"@��:
�"@�@(

 ��1�9(� <?�������( �	
 9�
����5(�( 6"##;8 7 ���������� ������	

�����/ 4��� ��� ����	���� �� 
����� ��	����
 ����
�� �/�
������ ��

��� �
�����	 �	 0���	( ����� 72� ,,�:,;�(

������	��(+(� 9�
����5(�(� C��	��( �	
 �� ���������( 6"##"8
����
���1����	 �� ��	���������	 4��� ���	������	 ��
������%
�����
����	� ��� ��	����
 ����
�� 0����	����( *� ���� ������ ��5� "M":
"@K(

����	�7(�(� H��
���('(� ���������9(�(� H�������.(� ��������7(B( �	

7	
����	�C(�( 6"##;8 B���	 �79-*+��$� 0�	
� ��	
�
�	$� �	

������	 K(" �	
 ��
���1�� �� ��� 0���������� ���0��	� �� ����������

����( *� ���� ������ �2�� "�#:"�;(

��������(H( �	
 9�����9(C( 6"##�8 7 ����$���� �	������ �� ���4��

�	�:������ 
��� �	����
���	� 
���	� ��� ��������	 �� ���0�� 
�	��
��
0��4��	 �����
����� 	����	� �	 
������( *� ����������� �1� ;"K:;�;(

�����	�9(2( �	
  ��
���(9( 6"##;8 ��. ������	� ����	�1� ��	����

���	���	� ���4���( ����� 71� K#M:K#;(

��	����C(�( �	
 ���	��
��7( ( 6"##,8 5�����	� ��������������	 �	


�
����	*
���	�	 ��	
���	( ������
��� �7� ;;�:;#"(

��0������?�����(R( �	
 C�����D(+( 6�!!!8 �7D�$" �	����
�� 4���
�$
���	�	 �	
 �� ����
����
 4��� 
���:
��� �
�����	 ����
�����(
�������� �������� +��� �����
�� ���� #!�:#!#(

'�		�	��7(9( �	
 7	
����	�C(�( 6"###8 ������	 ��
���� �� ����	�1��� ��
���0��	� ����
����( ����� ,��
� ���� ������ ��� K��:K�#(

'���	����	� (+(�  ��	��	�C(2(� 7�?���(� 9�	
��1$������7(�(� 2�$
B�����	��7(2$�( �	
  ��
���(9( 6"###8 ����	% � 
�������
 ���������
�� �9�$#M ������	����
 �������	�( �����
� �2� @M#:@,�(

D����	�-( �	
  �	?���D( 6"##"8 ��� �����
����� 	����	� �	 ��4$
�	����

������( �	  �	?���D( �	
 D����	� - 6�
�8� ���	���
� ����� �����( ��5
������ ���0��
��� �7� ��( �M":�;"(

D��0�	��� (�( 6"##M8 9��	�� ���	�
�
���	 �� �$
���	�	( ����� ,��
�
���� ������ �� @�K:@K!(

D��0�	��� (�( 6"##@8 ���� �
�����	% ��� ����
���� 0���� �� ������
��
����
���� �	
 ��������	����( ����� 82� �K�:�M,(

B����R(�  ��1�9( �	
 9�
����5(�( 6"##@8 �79-% � 	���� 
��*�9�#M
������� 4��� �	 �$�����	�� 
����
���	$
���	
�	� ������	 ?�	���

����	 �
�	��)�
 0� �	����
���	 4��� 	����/�	�( *� ���������� �6�
�K;;:�K#K(

B� -���R(� �������2(� 5�������(� D���)���+(�( �	
  �
	�?��( 6"###8
���������	 �� �+D ��
���1����	 �� ��	����� 0� ���-��$
���	
�	�
��������������	( ����� 78� �M�:�@�(

B�����R($�(� R�	��'($�(� -����1����(� ����0����9(� ����	�7(�(�
H��	0�����(C( �	
 9��	���( 6"##;8 ����
� �	����
���	 ��
�79-*+��$� �	
 ��	
�
�	 ������	 ������� ���������
�	 �	
 �����
���������	� 
�����0����	 �	 	����	�� ��	�����( *� ���� ������ �2�� "�#:
"M"(

B�����R($�(� H�	��5($'(� R�	��'($�( �	
 9��	���( 6�!!!8 ��
����
���	���
����	 �	
 ���	�
������	 ���������	 0� ��� ���0��	�$����
����

���	����� ?�	��� �79-*+��$�( �
	���� 2�2� �#;:�!�(

B��?�	�C(�  ��
�������H( �	
  ����	��C( 6"##K8 2$
�
����	 �	
 7��

������ ��� ��� �	����
���	 4��� �$
���	�	 �	
 ��� 
����?�����	( *� ����
������ ���� �!@":�!@#(

������(� B����R(� ����
����(� �
���(� B�����-(� R����(� ������?��B( �	

5�?���R( 6"###8 ��������	 �	
 
����
����1����	 �� ��������	
���������� �� �
�
���
���	�� ����

� ��
&'% ��
���1����	 �� 
���:

��� =�	
���	�( ,
����
�� �8� �;"":�;",(

C��-(� ����	��(� +���( �	
  ��
���(9( 6"###8 �����
����1����	 �� �7+9*
�����$"� $� �	
 $�% � ������ �� ��������	 +��$, �������� �	��
��

�� 0���	 ��	����� �	 ����
�����	 4��� ��� ������	����
 
�	����$#M*
���7 ��
����� ������	����
 
�����/( *� ���������� �7� K";#:K"##(

-��
��9(�(� H���)��
��(H( �	
 -���9(-( 6"##;8 5��
+��$�*+��$,*+��$"! 
�����/ ��
����� 0���������� ���0��	�
��
���1����	 �� ��� ������

� 2D' ��
����� +25$�� �	 ������
���������� 
����( ����� 72� ,@":,,"(

-��0�����2(� ��?������<(� ������(� +���7(� -��	�?��(� 9��������9( �	

��������� ( 6�!!!8 ����
���� 
��	�	� �	
 
����
����1����	 �� �����
������	� ����
����
 4��� �+�	$,( *� ����� ������ ��5� ""K�M:""K�"(

+�����	�	���(D(� ����
���(� 7	
�����������(� 2�����9(� ������H( �	

��=�	��2( 6"##,8 ���� 
�	I��	
� ��������� ������	� ��������������	
�� �
����	� =�	
���	 
����	�	�� �	 �	
�������� 
����( *� ���� ����� ����
�!@M:�!,,(

+��5(+(� R���7(�( �	
 9��4�C(+( 6"###8 ��
�
��	� �� 2$
�
����	% �
����	���� ��
��	��� ��� ��������	� 
�
����	 
�	���
�( *� ���� ������
�26� �"#:��!(

+����(7(�  ��	
�	�2(� ���	�2( �	
  ��	��	��( 6"##@8 54� �	
���	
�	�

����	� �� ���� ��� �����
��	� ��� ��0
������� �������	�% ��� ��.":�

�	��������	�� �	�� �	
 �	 �����	������� ����
�
 
����	( *� ���� ������
�15� ""�M:""�,(

��/�����7(� 9�
����5(�( �	
  �1���1��		���( 6"###8 7���
�����	 ��
	����	�� 
��
��� 
��		��� 4��� ��
���� �
����� ������	�( *� �����
������ ��2� �KKM�:�KKM@(

�
������B(�(� <1�4���(� -�������( �	
 �����	�H(C( 6"##!8 �����
��	
���	 �� ��� 
��� �
�����	 ����
��� ���������	 �� �	 �	
�
�� ��

��� �����
� ��������( ����� 6�� �!#:�"@(

����?��9(� B�	
?�+(� 94�
��4�C(�(� ���?����C( �	
 �����	�H(C( 6"##K8
��)	�	� �	����
���	� �	
 
�����0����	� �� 
�
����	 �	
 
���	�	

�����/�� �	 ������1�
 ���������� 
����( *� ���� ������ ��5� "�K":"�M�(

����?��9(� 7
�����(+(� ����?����(� 9����	�C(B( �	
 �����	�H(C( 6"##@8
5�� �
�	������� ��������� 
��� ����� ���������� ������	 ��
���1�� ��
������ ���0��	� ����� �	�����
 �	 �
���� 
��� ��������	( *� ���� ������
�12� "@M:",#(

���������(� ����
��+(�  ���������'(� ��	
����	���(� +�����	�	���(D(

�������� �� ���


���



�	
 ��=�	��2( 6"##M8 ����	�	$
���	
�	� �	
 $�	
���	
�	� ��	
���	�
�� ���
���� �	
�������� 
�
����	( *� ����� ������ ���� �!#@M:�!#,�(

��������(�  ��0�������7(� +�	�����(� �������(�������7(� �����	��(C( �	

������	��D( 6"##,8 9����	� �� �4� ��������
 ������	�� ��� �$���	�$
0�����
 �
�
 �	
 0����	� ���	��������� �	 ������1�
 ���������� 
����(
*� ����� ������ ���� @M;K:@M#�(

��������(� ��	�	���(� ������7(� +�	�����(� -��
��9(�(� '������2(�
B�=	���7(� -���9(-( �	
 ������	��D( 6"###8 ��.$��
����
 �	���$
�
���	� �����	 ��� ���������� D7 7 ���	������� �	 ��� 0����������
�����
� �� ������1�
 ���������� 
����( ���, *�� �8� ��;K:��#�(

��������(� ��	�	���(�  ������(� ��������9(�  ���
���B(� +�	�����(�	

������	��D( 6�!!!8 5�� D+5$" �	
 D+795 ��������� ���	�������� ���
�/������
 �	 ����������
���� 
����	
� �����
���� �	
 ��������
 0�
	����	�� �
������ �	 ������� �����
����� 
�
�������( *� �����������
�5� �	 �����(

������	��D(� 9���R(C(� 2
����		�+(� ��
	�
?�D( �	
 �����	��(C( 6"##K8
5�� �/�	�� �$���	�0�����
 �
�
 ���	������� D75$" �� �����
 �� ���
���
�� ���0��	�� �� ������1�
 ���������� 
����( *� ����� ������ �67�
K@@;:K@,K(

9�������+( �	
 �����	��(�( 6"###8 5�� 
�������� �� 
�
����	� �	

�����
����	� ��� � ��	����
 �
������ 
�
� �	 ��� ��9( �����
� �1�
K�,:K�!(

9���?��C(9(� -��
��9(�(� B����9(7( �	
 -���9(-( 6"##@8 +25$��
��
����� ��
���1����	 0� ��� 
��� =�	
���	 ������	 +��$, 
���	�
������

� ������ �	
�
���	( ����� 85� "#M:�!K(

9��������9(H(� -��	�?��(�  ����C(�(� -��0�����2(� �����B(� ��������� (
�	
 H�
��C( ( 6�!!!8 �+�	$, �� ��
���1�
 �� ��� 0���������� �����
� ��
��	�� ��������� ��� ��� �B� �����	��( (�� *� -�������� ��8� 'K@K:'K,M(

�
��
���(� B�	=��R(� C��	��	�-(�(� H�����
?��(C( �	
 5�?��
����(
6"##@8 5�� 
���	�	*
�
����	 �
�����	 ������ �� ��
���1�
 �	 ��	����

=�	
���	� 0��
���	� ���	������� ������� 1�	��( *� ���� ������ �15� ,@,:
,,#(

H��B(� �������9(�(� -����	
����9(� ���	��H(C( �	
 D��	����(�(
6"##;8 9�0
������� �������	� �	
 
����?������ ����
���	� �� 97�#,
�� ��� ���������� ������� ���0��	�( *� ���� ����� ���� ��@M:��,@(

+������� .����
�� /0 12223 ������� �
� 4/0 12223

����	�� *�
� /50 1222

� !���"������ �����
��
�� �& ����� #
�� �������
�


���


